Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

4 18#+5= 5 346 +0= 6 137 +10=
7 F61+5= g 913 +10= 9.282+10=
0236 +5= 11490 +1= 2314 +7F=
13.652+9= 142856 + 10 = s MF+3=
16180+ 4= 17488 +0= 18.893+5=
19.564 +6= 0613+10= . F1+5=
2. 406 +0= 23655 +5= 04922+ 4=
5292 +4= %6 638 +3 = 27348 +8=
8.520+3 = 9.840+0= 0 2+9=
31. %6 +5= 32.238+6= 13619+10=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN

Plusrechnen

+ 187 +5= 192 5 346+0= 346 , 137 +10= 147
. 761 +5= 766  913+10=923 . 282+ 10=1292
10.236+5= 241 |, 490+ 1= 491 1,314+ 7= 321
15652 +9= 661 ,,856+10=866 s 117+3= 120
5. 180+ 4= 184 |, 488 +0= 488 5 893 +5= 898
19564 +6= 570 613 +10=623 , #1+5= 76
7. 406 +0= 406 ,; 655 +5= 660 . 922 + 4= 926
5292 + 4= 296 5, 638 +3 = 641 ,; 348 +8= 356
2520 +3 =523 5, 840+0=2840 s 2+9= 11
5. 56+5= 61 3 238+6= 244 33619+ 10= 629
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